OK-A-3B-85

&
50050 F 1000LLF 2000 2000 2000 2000 2000
—r II I IT I | I
>
[
I EHEER
500 1000 2000 2000
0K-A-3B-85 T
. L3 120 340
o IvExyryT T " A " 5 s 6 o 5 EZHD . 170x100x4. Ot
\ | #F . 158x88x5. 01x340
s N\bee i I I L TRELHEE - 158x88x5. 0tx120
° FTTT0 D s |1 7]
b <, N = = Y I
wexeo |/ ¥ oo/ | |  T=————————— R A A
M16x40 | 300 TEER - 122x76x3. 2t
(SUS304) A22 B ‘ 35 85| 60 |85 35 T - 113x66x4. 0tx300
e — = AT © 113x66x4. 0tx120
” I: | 7T7 \l 3 $ \7 a | \77 7\ ﬁ i
M12x70 i? 4 [ gyl | eyt B |
M12x40 1 5 .
(SUS304) 16 S ‘ 2,2 A—ABE
(==} =.
22 . ; 77 (7 >h—EREE)
5— [ i i B 7 200
2 55 85 0
M12x70 «© £, £ Sy e £ TUh—KE
Mi2x40 ( ( ‘ ( 40 —
(SUS304) @ I $25%40 w| &
! ' ® H =7 s T =
RN/ R 5 45 Il 4 < o .|
o 1 o _ P
| = I 9 L | 51 )=
| T s BEERRSEN
i ‘ 250 S IER \
N 8 g Ml [N~ 40 BNE
425 " $28%45
+h (Foh—hib) M22x320 (RD) ) M20x220 (i) 'R
o (SCH435) @ (S5400)
100 100x200x12t-P95 -
M
5 8 | | 60 (85400) 35 9% ‘ 35
75 200 325 ‘
o 165
200

CERY WAORS., —HBHBEEEETS581HYET.

2a




